HilR&EZEF B4 DBLEXS My CATHILE 58 S s

' \ EaE—EES




~

( BF AR ZIHR ) ( REUEEFEDIT7=R )
BHRg. &R, 020, 3R, E Tl ATAE . =
TEF  SEFERFPEHK HHIRERRE. FHRERE. FEAME
(BARELAL) . SiHiE5] YERMIAR T | (ERIEIRIRES |
ME. OB RGEEENT RERS | BUEMEXR, FiE—
RIRRESEEE , IS5 R, MR AT IAT PR EEEB,

SimfRSS
( =T HEFNARS 7= )

PaaS. SaaSERSSIRMLE |
EENEFRHE—ENSIRE
RRRFH AT ENEIERE
RS . FRTXIARSSRERNRE

EKiRkE.

ACTION
Ealt



B s6RERETRER

~Aoo Server
| Sharding-driver |

_&Eu Sewer _

SAppSemver
| Sharding-driver |

i Sharding-drivar |

Load balance

Sharding-proxy

N

- i tﬂ I i -
DB server |HA | DB server DB server | HA | DB server DB Server | HA | DB server

EEh G| EEEE) GG ACTICIN

hww g $
Y r Y r Y o Y . . y L ) __I.




HiRpmaLAEIEd [ou]ble

I Bttt https://github.com/actiontech/dble ACTION




[ |

iRV AREd[ou]ble
dble2EFMyCATHIEEXIH RIS

DIVEHEEE

=l

HR , A XABES , BB J(Ali Cobar)
dble R T MyCATRYIpLE [a)RE /PR ?
—. RFEMHRREIER

—. BEMRSQLIEIESIFIAR

=. BEREARSE

—

)

EBRE 2. ACTION
. (RERERE 7 Esit



RAEFREREH

ACTICN
=aJt



| BASHEAZTENZRRGX

T4 2EZER ? HLERG L ?
BER 1. (FEELR) ik "ar
REREL X = RO, =EA" .
RERE]
EEFIAT

‘ 2EFE N BEAR=AF
SZxRZIH &, PN EALKAES I
JOIN v RERE TN IES.
UNION
SUBQUERY
A LEES

2 ACTION

Y =as



V| BREXTATENRRS X
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V| BRERENEENREAS Z(USHIGLOBALE )

4 A nodel JOIN FI=({ASQL):

e B RRERS T

BkS = =L SELECT HEf. B
201712010001 20171201 22, COUNT(*) AS1JER
201712010001 20171201 =
AETIE 201712010002 20171201 ==1
JOIN 8 EliE
USING(&&RID)
Gl WHERE BEEEE (%
HEF B (IFHERR 7372 IJ__—I)
ﬁ*lﬂ — Em ZARAY :‘_
201?2020001 20171202 GROUP BY HE imm
201712020001 20171202 2.
201712020002 20171202
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V| BRERENEENREAS Z(USHIGLOBALE )

B on 4 5

47 Finodel

tHE1F B (I HHRmR1)

K=

HEH

201712010001

20171201

201712010001

20171201

201712010002

20171201

43 Frnode2

HEF R (IR ERR2)

A FF

i

£icTF

mK=

=]

201712020001

A01 71402

201712020001

20171202

P8

201712020002

A01 71402

ANEEQUERYEXHEIR :

SELECT |"J|:||:|7<7J.I
COUNT(DISTINCT 73
mlD) AS SEHFpsE
FROM B3R

JOIN HEFE
USING(RF&ID)
WHERE HEREE (F545
=)

GROUP BY pgm:3
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4y Finodel

B B R AR T IERE ] EQ
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V| BREXEAEENRFRSZE ($56IHint)
MyCATHY "AJfg%%" 3 : Hint

-= select a.*,b.id from sharding_four_node a

[testdb]=/*!mycat:catlet=1io.mycat.catlets.sharelJoin®/

-> inner join sharding_two_node b

-= on a.id
T T

~b. id;
——————————————— +-———+

+ +
c_flag | c_decimal | id | 1id |

3 rows in set (0.02 sec)

“AInest loop join

HLHlEiX

select *, id from sharding_four_node

Hint: X FRNN =I5
{ERhintAy A=

EREI

select 1d, id from sharding_two_node where id in (1,2,3,4)

REEIRZT

2RV )RR

FKiEFRIOIN SEEZInIR

EEHOHINtAY
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| FHEBRERTH-XENH

SHEFLITER-XRLE Figh
LARATSQLEE | BSQLEEAEARITTA  URMTTAFTRRIZE | MEEEN .
2REARTTHEN A PRAIEEFAEENINNF O R . PREVMBEBSREEREH,
3.ERERME , A NAEEFAEERIIE 75 R FHREIZERE,

KENE (BPD )

Name symbol ﬂ,ﬁ‘qulﬁﬁﬁJ‘”
Selection ﬂ'n&b(R} or Taby (R} BRE, > 7,0 WHERE
Projection Il,,...a, (R) SELECT
Cartesian product AxB= {[:tl, 'E') | ac A and b€ B}' Rk
set Union AUB={z:xz€ Aorz € B} INION
Rename paip(R)={z € B |z & A}. Bl

Natural join

RpaS={rUs|reR A s€S A Fun(rUs)}

Natural join

B -join R wmg S = OB (R X 5)

Equl joln B¥ =" B8 -join

Semi join RK S = Tal,..,an(R = §)

Left outer join R S :(RWS}U{{R— e, r2,e - Tn (RD‘]SH * {{Wﬁw}]‘] JOIN
Right outer jD:ILI-.I. R [+ ] 5 :[R[}:ﬂ S)U[{(w'-'*”!w}} X (S_ ﬂ-El-EEv--.-"—n (Rl}q S])]

Full outer join R S=R>xS5=(R>x2S) U (R pxS5)

Aogorezation Bipl, BExpi, BExpa. . . Gfuncl, funcd, funci. .. =

& % ACTION
A\ A=ES



B | Z5REZ2E5-JOIN

[ APP J .
JOIN £ -

select * from tablel a inner join
o | Lo

table2 b on a.id =b.id ;
tablel U719 Hdnl~4
table2 219 H dnl,dn2

=i :

TRiER :
SQL1:select * from tablel;

SQL2:select * from table2;

FRIBI4 IR SHE(E -
]_ R/\+'- 54t %A;:F

I\\\

ZJQQi%EBzﬁﬁald =b.idiZEMRJOIN

=aldt
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GROUP

judge result
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[ APP J

BRI R LA EHAARNB—IRD =
(dble-FEMySQL fR VAR B4 SEEREIAT)

UNION ~%



| ZERERERTE-R6

_ [testdb]}sﬂect
e e
| id | c_flag | c_decimal |
-t —————— e +
| 2| 2 | 6. 0000 |
3| 3 | 6. 0000 |
| 4 | 4 | 6. 0000 |
| 1| 1 | 6. 0000 |
tmm— e ————— e +
4 rows in set (0.01 sec)
I [cestdb]>select
+-———- e —— +
| id | c_char | ts
+-———- t-——————— +
| 1 | 1 | 2017-12-01 14:57:
| 2 | 2 | 2017-11-30 10:50:
| 3| 3 | 2017-12-01 14:57:
| 514 | 514 | 2017-12-01 14:57:
| 515 | 515 | 2017-12-01 14:57:
+-———- tm——————— o
5 rows in set (0.00 sec)

* from sharding_four_node;

* from sharding_two_node;

51 | didz2 |
| 1] 1 |
| 2] 1 |
3 1|
| 514 | 1 |
| 515 | 1 |
+-———= - +

Xt

sharding_four_ node ¥

ARIDIR D 94T R,
RN - X4,

sharding_two_node 1%
ARIDIR D /921 E R

oA X310243K1E |
O~ 511 EUﬁg— | gn,ﬁ '
512~10231F 2 RIFE—-1

£

/o

TECHNOLOGY



N | ZRRAEZEIH-226) union

FhidE
sharding_four_node
e tommmmm———— - +
| id | c_flag | c_decimal |
tomm o pommm - +
| 2| 2 | 6. 0000 |
3| 3 | 6. 0000 |
| 4 | 4 | 6. 0000 |
| 1] 1 | 6. 0000 |
tom e +m——mm———— o +
sharding_two_node
+-———= tomm Fommm
| id | c_char | ts
+-———= tom— Fommm
1] 1 | 2017-12-01 :
| 2 | 2 . 2017-11-30 :
| 3| 3 . 2017-12-01 :
| 514 | 514 . 2017-12-01 :
| 515 | 515 . 2017-12-01 :
+--—-= tomm Fommm e

select id from sharding_two_node a union
select id from sharding_four_node ;

+-——— +

Cid |

T 4

l .

1 MyCATZ5
| 3 |

| 4 |

514 | x

| 515 |

| 1 |

- +

+——-—+  dbleZf

1 |

4 | ,
2 | - 4
4 |

5 |

& rows 1in set (0.03 sec)

2. ACTICN
Y =a+



B | RGRRREZE-56 union all o

+———— +

| 1|

TR | 2|
sharding_four_node I i I
| 514 |

| 515 |

I

Fm——— +

7 rows in set (0.00 sec)

+-———- +
| id |
N +
| 514 |
|21 dbleg
2017-12-01 : I % I
2017-11-30 : | 3] &
2017-12-01 - | 4| “&y’f
2017-12-01 : | 2 ] A
2017-12-01 :
| 1]
| 31
+-———- +
. . ] 9 rows in set (0.01 sec) o
select id from sharding_two_node a union all ¥ S ACTION

select id from sharding_four_node ; | W o



B | mrmasSREs- 26 SaR 1 abs(sm(c_decimal)) |
©. 0000
FEHIE
sharding_four_node E ngg
©. 0000
o +

T -
| abs{(suMm{c_decimal)) |
2017-12-01 - +
2017-11-30 - | 24,0000 |
S e SRS .
2017-12-01 ° 1 row in set (0.12 sec)
- dbleER
select abs(sum(c_decimal)) =] |

i 2, ACTION
from sharding_four_node 7 =it



| ZEMARSREN-R6 FEiD
B

sharding_four_node

6. 0000
6. 0000

2017-12-01 °
2017-11-30 :
2017-12-01 :
2017-12-01 °
. 2017-12-01 -

select id from sharding_two_node where id
=( select min(id) from sharding_four_node)

Empty set {D 053 EEE}

MyCAT1.6.14558 9

MyCAT1.6.54558
EERT , Bid&=hangfE

+-———+

TECHNOLOGY



N E5mREZai-26 JOIN Empty set (0.05 sec)
Shardinf_ﬁﬁﬁude MyCAT]-Glz:Iél:% x

MyCATL.6.5455R : B8 ~/

-t ————p———— ———— f-m————— — +
id | id | c_flag | c_decimal
-t ——p———— ———— f-m————— — +
1 1 1 . 0000
2017-12-01 : - 2 2 6. 0000
2017-11-30 - 3 3 | 3 6. 0000
2017-12-01 - S e fommmm———— +
2017-12-01 - 3 rows in set (0.02 sec)
2017-12-01 -
. == ™
select a.id,b.* from dblez55: /
sharding_two_node a inner join 2 ACTION

sharding_four_node b on a.id =b.id; | W =ors



N | ZamreZeain-6 JOINKE
£

sharding_four_node

2017-12-01 °
2017-11-30 °
2017-12-01 °
2017-12-01 °
2017-12-01 °

select a.id,b.* from sharding_two_node a

inner join sharding_four_node b on a.id
=b.id+1;

Empty set (0.05 secC)

MyCATL6.5458 :  9¢

E;El 6. 5/\ZE5|:E|;H|ﬂt 'f’t U'ftﬁt_ll
B, FlrRRRro AN ARmMER
.hlntlziﬁ

e T o —————— +
| id | id | c_flag | c_decimal |
e T o —————— +
| 2| 1|1 | 6.0000 |
| 3| 2| 2 | 6.0000 |
e T o —————— +

2 rows in set (0.01 sec)

\/ J2 ACTION

dbles
Y =as



N | Z5pReZEi-%6 JOIN forl.6.5

<table name="sharding four node" primaryKey="1d" dataNode="dnl,dn2,dn3,dnd4"” rule="rulelplus™ />
<table name="sharding four node2" primaryKey="1id" dataNbde="dﬁd, dn3,dn2,dnl" rule="rulelplus" [>

FhiE
sharding_four_node Sharding_fou r_nOde

sharding_four_ node2

IgRRIDIR D 94N o 2.
RO - IFAKIR,

K—REEFH RSN AE




| Z#RARSZEi-JOIN forl.6.5
F=REEHE

sharding_four_node

|Empty set (0.01 sec) x

1.6.5hRA TR D RNAS RIS {sE FE
hintiZi5.

XEMNFER , FlEIR) T A2
EREgRERF L

o ——————— o —————— o —————— e ——————— +
- id | c_flag | c_decimal | id | c_flag | c_decimal |
o ——————— o —————— Fmm— o —————— e —————— +
| 1 | 1 | 1.0000 | 1 | 1 | 6. 0000 |
| 2| 2 | 2.0000 | 2| 2 | 6.0000 |
3] 3 | 3.0000 | 3 | 3 | 6. 0000 |
| 4 | 4 | 4.0000 | 4 | 4 | 6.0000 |
o ———— o e ———— o ——— +
4 rows in set (0.81 sec)

select * from sharding_four_node2 a db|eQ:£% x /

inner join sharding_four_node b §2, ACTION

on a.id =b.id; ) i =04



| FERRERTH-SREHNEEITE

explain select * from sharding_two_node a
inner join sharding_four_node b on a.id =b.id;

fmmmmmm fmmmmmmm e +

| DATA NODE | TYPE | SQL/REF

fommmmme o T +

| dnl.@ | BASE SQL | select "a .7 id","a . c_char™, a
| dn2.8 | BASE SQL | select "a .7 id","a . c_char™, a"
| dnl.1 | BASE SQL | select "b™.7id","b" . c_flag™, b"
| dn2.1 | BASE SQL | select "b™.7id","b" . c _flag , b’
| dn3.@ | BASE sSQL | select “b*.7did","b" . c flag , b’
| dnd.@ | BASE SQL | select “b*.7id","b . c flag , b’
| merge.l | MERGE | dnl.@, dn2.@

| merge.2 | MERGE | dnl.1, dn2.1, dn3.8, dn4.8

| join.1 | J0IN | merge.1l, merge.2

fommmmme o T +

9 rows in set (8.88 sec)

tsT At .’
. €_decimal® from
. c_decimal® from
. €_decimal” from
. €_decimal” from

ES -

. 51" from "~ sharding_twc node” "a

- - - - -

si” from ~sharding_two _node” Ta
“sharding_four_node” "b°
“sharding_four _node” "b°
"sharding four node” "b°

"sharding four node™ "b°

ORDER BY

“a". id" AsC |

ORDER BY "a . id" ASC |

ORDER BY "b°
ORDER BY "b°
ORDER BY "b°
ORDER BY "b°

id”
. id”
. id”
o id”

ASC |
ASC |
ASC |
ASC |
|
|
|

TECHNOLOGY
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W | BBHASQLZISBR ( MYCAT SET i54))

([ -:tdbl>select * from sharding_four_node order by 1d;

$mmmmpmm $mmmmmm————— +
| id | e_flag | c_decimal |

111 1" 6.0000 | .

212 s | MyCATHY set@@session.tx_read_only
| 414 | 60000 |

s i fmmmmmmmm——— +

4 rows in set (0.03 sec)

q[testdh]ﬂnsem into sharding_four_node(id,c_flag,c_decimal) values(5,'5",5.0);
Query OK, row arfected (0.05 sec)

B (tcstdb]s=set @@session.tx_read_only =1;

Query OK, 0 rows affected (0.00 sec)

—[teﬂdb]}'imert into sharding_four_node(id,c_flag,c_decimal) values(6, 6" ,6.0);
Query OK, 1 row affected (0.12 sec)

N (testdb]=>select * from sharding_four_node order by id;
———————— T

c_flag | c_decimal

Jlr
6.0000 |
. 0000 |
. 0000 i
. 0000 }
+

¥
6
6. 0000
3
o. 0000

b — 4

6 rows in set (0.01 sec)




| PBHASQLZIHAR ( MYCAT SET i54)

_ [teztdb]}ae'lect @Etx_isolation;

1 row in set (0.00 sec)

I [ =stdb]>set @EBsession.tx_isolation = "SERIALIZAELE';
Query 0K, 0 rows affected (0.00 sec)

_ [T_EST_db]}SE-|EET_ @Etx_isolation:

1 row in set (0.00 secC)

SES
N (cstdb]>set you =me;
Query 0K, 0 rows affected (0.00 sec)

TECHNOLOGY



| BBHASQLZIHBR ( MYCAT SET i5f0)
SetiE A ALBILXIERIE , Bi1E5—TIES.

ignore SetIgnoreltil.isIgnoreStmt({stmt);

1 { ignore ) {

ringBuilder s ne ringBuilder();

logger.warn(s.append(c).append(stmt).append(™ is not recoginized and ignored").toString());

c.write(c.writeToBuffer(OkPacket.OK, c.allocate()));

MYCAT fEf& 7T —LsetitliZ 5 , HRset—FiREIOK

& % ACTION
A\ A=ES



| PBHASQLzI%ih5R ( DBLE SET i541)

I ((cctdb]=select ®* from sharding_four_node order by id;

t-———F———————- t-—m—————— - +
\ id | c_flag | c_decimal |

T om0 | |

| 1] | 50000 | dblefy set@ @session.tx_read_only
3| 3 | 6. 0000 |

| 4 | 4 | 6. 0000 |

e tommm————— - +

4 rows in set (0.01 sec)

I [ cstdb]=insert into sharding_four_node(id,c_flag,c_decimal) values(5,'5",5.0);
Query 0K, 1 row affected (0.02 sec)

I [tcostdb]=set @@session.tx_read_only =1;
Query 0K, 0 rows affected (0.00 sec)

I [testdb]=insert into sharding_four_node(id,c_flag,c_decimal) values(6, 6" ,06.0);
ERROR 1792 (HY0QO0OQ): Cannot execute statement in a READ ONLY transaction.

I ((cctdb]>select * from sharding_four_node order by 1id;

I “ R +
\ id | c_flag | c_decimal |

o o +

1 |1 | 6. 0000 |

2| 2 | 6. 0000 |

3| 32 | 6. 0000 |

| 4 | 4 | 6. 0000 |

| 515 | 5.0000 | ACTI N
o o + =EoltE

5 rows in set {(0.01 sec)



| BEHASQLSZIFBR ( DBLE SET i&fD)
B (ccstdb]sselect @Etx_isolation;
+

+ _________________
| @Etx_disolation |
o ————— +
| REPEATABLE-READ |
o ——— +

1 row in set (0.01 sec)

[testdb]>set @Esession.txX_isolation ="SERIALIZABLE ;
Query 0K, 0 rows affected (0.00 sec)

B =-tdb]>select @tx_isolation:

Fom +
| @Etx_disolation |
Fom +
| SERIALIZAELE |
Fom +

1 row in set (0.00 sec)

I (testdb]=set you = me;

ERROR 3010 (HYD0O0): system variable you is not supported o
&2 ACTICN
\ " ETES



| EBHASQLEISNR ( AXISEDIPHIET)
RELERENINEE , SEIRRIRE

511.dbleA~37+F;

I [t =stdb]>set @iglobal.tx_read_only =1;

ERROR 3010 (H¥000)Y: settina GLOBAL value 15 not suppborted
B EGLOBALXHEE , EFTER

%12 FRIEMYSQLE A XA |, iRBSESSION E
X TF—FE=ZEN

¢ Without any SESSION or GLOBAL keyword, the statement applies to the next (not started) transaction performed within the

current session. Subsequent transactions revert to using the sEssION isolation level

dbleiXiRSEMILIIRE , M BRFHIRA S

‘_ [testdb]>set @@tx_read_only =1;
ERROR 3010 (HYO0O0O0): setting transaction without any SESSION or GLOBAL keyword is not supported now

J2 ACTION
Y =0+
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| iExEE

511: MyCATElinserts@&fll /s 5271 , SRS -

B (testdb]=insert into sharding_four_node values(5,"5",5.0);
ERROR 1064 (HY00O0): partition table, insert must provide ColumnList

dblei&i%

SR

—[tEEtdb] =insert into sharding_four_node values(5,’5",5.0);
Query 0K, 1 row affected (0.20 sec)

32. MyCATHZBERYIBENX TiE)

[testdb]=insert into Ehardiﬂg_FDur_ﬂUde_autn?ﬂc(?d,E_Ehar} values(next value Tor MYCATSEQ GLOBAL| "1°);
fected {0.33 sec)

dblefIEEAHIMysql BEIANEEHER :

N [teostdb]=insert into sharding_four_node_autoinc(c_char) values('1");
Query 0K, 1 row affected (0.22 sec)

2 ACTICN
“‘n? =hps



| i5EEEM
f53: MyCATHinserti S

E— EEE;Ean'iﬂtn sharding_four_node(id,c_flag,c_decimal) wvalues(5,'5",5.0);
Query OK, 0 rows affected (0.00 sec)

[testdb]=select * from sharding_four_node ;

-t ———— o —————— +
| id | c_flag | c_decimal |
-t o ————— +
| 4 | 4 | 6. 0000 |
| 1| 1 | 6. 0000 |
2| 2 | 6.0000 |
| 3| 3 | 6. 0000 |
t-———t———— o ————— +

4 rows in set (0.01 sec)

dbletEmEATAIR

[testdb]=inset into sharding_fnur_ﬂude (id,c_flag,c_decimal) values(5,'5",5.0);
1 syntax error, error in :'inset into sharding_four_node ',expect IDENTIFIER, actual IDENTIFIER inset
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MyCATISE)RAY7%EH 3

bufferPoolType system.getProcessorBufferPoolType();

N/
switch (bufferPoolType){

case @:
bufferPool new DirectByteBufferPool(bufferPoolPageSize,bufferPoolChunkSize, ;:FI_I %*&
bufferPoolPageNumber,system.getFrontSocketSoRcvbufi( ) ) ;
1279 109
I

totalMNetWorkBuffersize bufferPoolPageSize*bufferPoolPageNumber;

XIRACAS
IR

RN
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totalMNetWorkBuffersize 6¥bufferPoolPagesize bufferPoolPageNumber;
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2017-12-02 15:49:51.385 WARN [3I_MyCatserver] (jo.mycat.net.NIOACceptor.accept(NIOAcceptor. java:143)) - $_MyCatserver
java. lang. NullPointereException
at io.mycat.net.AbstractConnection. setProcessor (AbstractConnection. java:213) ~[Mycat-server-1.6.5-release. jar:7]
at io.mycat.net.FrontendConnection. setProcessor (FrontendConnection. java:130) ~[Mycat-server-1.6.5-release. jar:7]
at io.mycat.net.NIOAcceptor.accept (NIOAcceptor. java:137) ~[Mycat-server-1.6.5-release. jar:7]
at io.mycat.net.NIOAcceptor.run{NIOACceptor. java:102) ~[Mycat-server-1.6.5-release. jar:7]
2017-12-02 15:49:55.602 WARN [$_MyCatserver] (io.mycat.net.NIDAcCCeptor.accept(NIOAcceptor. java:143)) - $_MyCatsServer
java. lang. NullPointerException
at io.mycat.net.AbstractConnection. setProcessor (AbstractConnection. java:213) ~[Mycat-server-1.6.5-release. jar:7]
at io.mycat.net.FrontendConnection. setProcessor (FrontendConnection. java:130) ~[Mycat-server-1.6.5-release. jar:7]
at io.mycat.net.NIOAcceptor.accept(NIOAcceptor. java:137) ~[Mycat-server-1.6.5-release. jar:7]
at io.mycat.net.NIOAcceptor.run({NIODAcceptor. java:102) ~[Mycat-server-1.6.5-release. jar:7]
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mycathRF1.5¥01.6 |[BAFEEETD, FEEE-TAVGHIHE java.lang. Index0ut0fBoundsException
BUGEM:

mysql> select avg(id),aveg(id) from product;
ERROR 1185 (HY®®8): java.lang.IndexQutOfBoundsEwxception: Index: 3, Size: 3

mycatE &S FEHiE:

caught exception Jjava.lang.IndexQutOfBoundsException: Index: 3, Size: 3
at java.util.ArraylList.rangeCheck{Arraylist.java:653)
at java.util.Arraylist.get{Arraylist.java:4293)
at io.mycat.sglengine.mpp.RowDataPacketGrouper.merghveg(RowDataPacketGrouper. java:248)
at io.mycat.sglengine.mpp.RowDataPacketGrouper.getResult(RowDataPacketGrouper.java:bE
at io.mycat.sgqlengine.mpp.DataMergeService.getResults(DataMergeservice.java:272)
at io.mycat.sqlengine.mpp.DataMergeService. run{DataMergesService.java:228)
at java.util.concurrent.ThreadPoolExecutor.runkorker(ThreadPoolExecutor.java:1142)
at java.util.concurrent.ThreadPoolExecutor®Worker.run({ThreadPoolExecutor.java:6l7)
at java.lang.Thread.run{Thread.java:745)

1 | 1] [ »

=F RowDataPacketGrouper 20 mergAve IEE, i T k= =] [ =]
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Set<Integer> rmIndexSet = new HashSet<Integer:>();

e
for (MergeCol merg :

if{merg.mergeType==

wW.fieldCount=toRo

mergCols) {
dergeCol . MERGE_AVG)

M=+ = — [l== [}

=t SHS = 515 e
w L N S

null)

fieldValues.set(merg.colMeta.avesSumIndex, result);
fieldValues.remove(merg.colMeta.avglountIndex) ;
fieldCount=toRow.fieldCount-1;
fieldValues.remove(merg.colMeta.avgCountIndex) ;

w.fieldCount-1;

rmIndexSet.add(merg.colMeta.avgCountIndex);

1
if (result !=
1
toRow.
ToRow.
toRow.
toRow.
toRo
¥
h

for{Integer index :

rmIndexSet) {

toRow.fieldValues. remove(index);
—

toRow.fieldCount

= toRow.fieldCount - 1;
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1 ERFIIHEBANERES EiEE

2 AZiFalterZ N E BREN BigE

3 ERFRZESPASHFRFRERTEALE BigE

4 useOffHeapForMerge FuseStreamOutputFHZSENPEE =y 3=l

5 EER/NNEAE T ES B FESHIEII TRl REFEH! FEEETH

6 tt¥dbetween A and BIEi% , hashif DREATRLRATEES IR BizE
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